Sdfg]

Mk R BRSO TIETE

HAT: o
P55 | I TR 4R TSR A | THRE |sanh| 20690
— FER TR 59726
1 Yyt 1% 22%14 2| 308 2 616
2 7L (81%1) + (1. 2%2. 2%10) *1. 1 | 107 12 1284
3 [10ECI0mREZE (81+26. 4) 0. 1 1 1 450 4950
4 | EmomEr T (0. 8*406)+(81:2§é)1.2*5*10)+(2.2 kg | 820 6 4920
5 | 40/ZC30m Al (86%1) + (1. 2%2. 2%10) *0. 4 S| 43 600 25800
6 KIB 8150. 0732 3 6 480 2880
7 fite B A 81:0. 24%0. 76 51 15 480 7200
8 HE 4t — (22%3) +17+5=88m 11196
® C30Me 0. 24%0. 24%88%2 m* | 10 600 6000
® R Eﬁé12:64o%gé:|3?4iéukﬁgﬁ:80kg; Hl | 866 6 5106
9 I 14%13%0. 3 m® | 55 16 880
= i 33772
1 B M2227:1$6§;i;_g33i;42: 8. 2| 95 | ss0 | 17110
2 | Hedw c3020ﬁ41\54;;2.c(1:§(1)2ﬁ91\24;; 8(;412224: m? | 1033 | 140 | 14462
3| NI C1818%6 21 20 110 2200
= il s T7%6. 6-1 7 132=378m"*0. 24 1 91 | 480 | 43680
LY AL 139356
1 KEIBh A7 A% 3804
@® C30Me 0. 4%0. 4%8. 4%2 m* | 27 600 1620
@ B 75 B 1218=288kg; HEL4£8=T6kg kg | 364 6 2184
2 KE2Bh 37 4% 11406
@ C3072 0. 4%0. 4%8. 4%6 m® | 81 600 4860
@ B 75 B 4216=863kg; EL1£8=228kg kg | 1091 6 6546
3 KE3[']THE 2382
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HAT: o
P55 | I TR 4R TSR A | THRE |sanh| 20690
@® C30%: 0. 4%0. 4%8. 4%6 m* | 17 600 1020
@ R 75 Bf£16=190kg; E126=3Tkg kg | 227 6 1362
4| AR BN HAZ18: 4mk4fEx164 kg | 512 6 3072
5 GE LA g At 4092
@ C30%% 0. 24%0. 37%8. 4%4 m° 3 600 1800
@ R 75 Bf£16=318kg; E126=64kg kg | 382 6 2292
6 GE2#4 i A 1254
@® C30%2 0. 12%0. 5%7. 3%2 m* | 09 600 540
@ 155 HA16=92kg; Hi26=2Tkg kg | 119 6 714
7 GE3M i 1428
@® C30%: 0. 24%0. 24%7. 33 m* | 1.3 600 780
@ 755 B E12="78kg; H126=30kg kg | 108 6 648
8 KL1%2 10626
@® C30%: 310. 24%0. 6 m® | 45 600 2700
® G Eﬁéé 5; 20205kkgg; EE%ZIZO:: 337206kkgg; Hl g | 1321 6 2026
9 KL22 A 8886
@® C30%% 0. 48%0. 24%8. 54 m® | 3.9 600 2340
o i | e | e | e | s | s
10 KL3% 61 1932
@® C30%% 2. 65%0. 24%0. 35%6 m* | 1.3 600 780
@ 515 H1218=162kg; H£6=30kg kg | 192 6 1152
11 KL4Z2 2H 2256
@® C30/: 5. 24%0. 24%0. 6%2 m* | 15 600 900
@ 515 H1£22=188kg; Hf26=38kg kg | 226 6 1356
12 LL1E 2826
@® C30Hs 0. 24%0. 3%3. 58 m® 2 600 1200
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BAL: TG
5| I LR R TR Hh | TRE |s60m| &%
7S == . 7S == .
) B E4220 140?%_%&? 88kg: H kg | 271 6 1626
26—
13 | #ERmm 53100
@ C30% (14.3%11) + (2.3%7.3) *0.12%2 | m® 42 600 25200
—HEE A 1154ke;
@ MRS KT XCHE ﬁFE@%ﬁ@nm, kg | 3005 6 18030
%:EFE%%}MﬁﬁﬁIOSZkg;
B | &= KL AN H1£10=830+814kg kg | 1645 6 9870
14 117 2664
@ C30%e 5. 3%2. 9%0. 12 m 1.8 600 1080
@ B 5 H4£10=133+131kg; E128=T6kg | kg 264 6 1584
15 B 0 575 H1i48="711kg; H{£6=258kg kg 970 6 5820
16 KA 23808
(1%0.24) + (0.5%0. 12%2) +
@ C30fe (22.2+12) #2+ (6%3.6%2) = m? 27 600 16200
0. 36%75. 2
| YTk — . 2A1 () — . 7S
® T PP 450kg,6§15égg 662kg; E1E kg | 1268 6 2608
T AR (22+11) *2%7. 3— [T 132%70% m? | 390 35 13650
N | AMEEAR 482-92-147 m? | 243 90 21870
+ N2 1E 31218
(7*2) + (22*2) + (11*%4) +
@ RS ) (2(5*2) 17 3_(92 ) m’ | 689 | 33 22737
@ K (7*11) + (2.6%5) *2 m’ | 257 | 33 8481
A s 689+ b3 7567 m? | 1256 | 24 | 30144
il By e va kst 334 m? | 334 7 2338
+ 10’5‘31&?:'7‘3*@ (21*11) + (2.2%5) *0.1 m® | 24 | 450 | 10800
+— =AML (14*%8) + (2.2*21) *2 m? | 316 80 25280
| KBS IR bR R (1%0.46*%11*4) + (2.2*6*2) m? 46 80 3680
+= I KHEA (5%0.4*3) + (5*%2.6) m? 19 130 2470
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HAT: o
P55 | I TR 4R TSR A | THRE |sanh| 20690
4 5 B2 14+44+44+5+22+4 m | 133 12 1596
| R R (65%2272) + (15%5%2) + m? | 334 | 130 | 43420
| BUKWHE J B 4y 22 87 1914
++t B A 57291
1 STt 8%3. 6 m? | 29 110 3190
2 | MRS RIT i 711 m? | 77 85 6545
3 | PVCEKE 8*2 m 16 30 480
4 T 5 G m° 5 480 2400
5 kT TH| 10 180 1800
6 | LroT A m? | 592.8 | 20 11856
7 TR R LIHIAR m? | 592.8 | 25 14820
8 TS S Akt m? | 5928 | 25 14820
9 | TR R 2.6*3*0.15*2 m* | 23 600 1380
T\ KEHKA 30m 27504
1 YA 30%1. 6%1. 5 m* | 72 12 864
2 fiz i A4 30%1. 2%0. 24%2 m® | 17.3 | 480 8304
3 | 8ECISHRIAR 30%1*0. 08 m® | 24 500 12000
4 Rz 30%1. 2%2 m? | 72 33 2376
5 R B 60 66 3960
+hA| EHE —+ et )\ 549709
—+ i 2 +F1*6% 32983
| BBIERM + = 582692
SR —t—/592.8 983
| PR S ey e e g

202249 H




